Aumbers > asSL

' Intc‘ae_( V\LLM‘OC‘I'S (Z) W\ Shac ¥l
@u\smﬁ\\mﬁ&\ Sl s c:_:eé-u c 5l s
' e ) JLANLLOES b s apdis

T v sm3,-2,-180,0,2,3, ...

el e
Lols Smossp slosy byo <l pplpsl
Yo C—-’ﬂMSZ—_J“L‘)B‘B‘—’?MA‘ CV-S VU
o b s a—lb s o bE ,Z
- | a\@\W\J&Wﬂ“

& Z e s
:\:ig_\;u;pt"j ;;5@"\—)&—9‘“ Z?L_,c_:!‘c:;-his(w
Woburn!  numbers (A) Boswbd\ 2lasy
53830 e st 2M5g seal) (asted et sl on

NWATNFRILAY 3\_9?3&5\?\9.3—'»@\ S8RV LR ENLL g a2l
P Y 4all LS

A lephlas
\-—%—’\-5 UM-}) Sl b, .:__\\u.p\‘yz\_,

'“C"’\ d‘“ﬂ\sgﬂ\&w
atb °~L> eEnNn

/\/7-2152;5)‘4)‘“}

Q)



| LS Baaddly Popdl de BB

O\-—B 5 E\_ é
o =NV |
Raotional numbers ( Q) W\ SteeY
e pomnpns Bond Spla o g el She 0B

@:Z%l"‘)b €7, b 403 st L

el ds i Yoo s Bl st bya <ol oplsl
Samdd s oopmpdiy pabig
a+lo , ool , ol b o
_ 2 e g

v Yot ional numbers (Ir)w\j_—:‘ SloeYl %
AN = T PP TP S S
oYL s es s St e SR bt el

53\ NN o Ko, G % edl slac
u—é—%’.g\h&?u Q_:ICJ\j T ::L:_-N\A_.A\ w\ CiM.s.é;
IRRURCIRUTRATY e Sons S Aia L
logos Bmoe sty o s _%. JL
Reoal tumbers (R S _LEaa sledy
R T P S e
.Ei_,:_»\\_,‘,\\t@\ PrETawit
@&\3@_@\&4% Wb V33 & LzuEe slisl b0 e, ol
L e ) Rl s Gl

atb s a-b, ok, %-GR

(2)



~ Tmaginary nusbers (1 GO TCS IR

JTToeny ol Sbudl el Boensll sl o

- C2

_l. -l —-————’I.‘-"—"""
‘3 n2' . .3 L

o= (D) ey | :-lg

Y

=1

L ) —

i - 1 o | =
COW\(JIQX nUMb e s (m ) E\_Aéi)_d\ Shac ¥ ¥
o 53| Slas%lud

e o \ensnl enss b S s . :
ST vebl sl Sl

W\'-"-O\.Jr\o{ 5 Q)beR | .
I R |
Qmﬁa@\,@xphﬁ(&)&md@,é ‘,mm
- L ’q—’)él)gl\ DA P
T ' =g Vst

O\ _\, \D.l = C—"\‘d‘l

:C:M_éwc_‘)_ga.x_i GHL%E‘D-'Q

a—

L}'-'-‘d)O\'.:C Cl-’\;b

(axbi) ¥ Cewdi) =(0Fc) + (bFdJi
L OE e eoss coph -3

(Qi-\of)-(c-\rd.f):uc + ad, + bc, +b¢l{2 @

soC aadi+ bel 4 Lol

= (“C"‘h*d»3 + _(C*ol +beyi



: c_,\.u_é'_)“’ o DS Fowsd -
At-b( . C- 0‘1__ — 0\(-0\01:'+Ec|'-bdfz

C+dl Cod .
o C%-*—d}{._ dz{a

. A
= 0c-adiybeibdi
2 e .2

C-9 |

_oc ~adivbaibd )

{

°\_>\L\\ a0 \}s\)\c:_&_mAJ:Ml Y, mes\ ~1
21X+31}’—6X+3)/= lo(~6
Sdiadl
(-€X43Y) 4 (2X 43y )i =2 & 2loi 835\l el
~EX+3Y =_ ¢ G
12)(:3)/":':;10 \‘_~®

F_SX — ?- @\L}L

= - 1€

-t LEED
x> |

()



L) slsell coant & X =2 Bess Lo

3\)9\.94\5\'(_._.@3 g
a"»« © =0

~6X +3y=-6 -0
.—5(2)-%-77)/::: )

(2 + 3y =-6

3>/.::' 12 = &

3V = &

& 2
y = =

—

D=2

FEURICATEN N VIN I T ENpES el AR Sepd 220! -
_(X+1y)(2-\')=: 3-‘H R
2X- i X +21Y=Vi’z S
2X -1 X +2I.>/->/(-l§:-' K 4
2)‘ -l‘x .!.-21‘>/+ )/::B—\-f
Cxey)«(X+2y)i= g4l - A el <l
2X+>/::: R . ®
-X+2Y=1 (.. @



Cox[2x+Y=8 0
X g2y=\ 0@

R

x_{)( -{;_-2Y= [ &

SX a2y E oL
5X =15

AP oy
5

G o3> 2 s\eedl 8 X =3 Blad Lo

2Xx Y =8 .0
203)tY = Y
£+ Y= 08
y=8-¢

(=2



2 _ ) . . . .
¢ W2y Sedan Yo3oi sX=2430 1S 1Y

9 4 . 2 ) 2 ,\,\_&_'D—h
X+2VY = (2—\-31') +2(3-—-l)

(iaiziaqity s 2 (a-6iait) wherefit
= (Y4120 C0) 2 (g 61+
(Y t12i-q) +2(a-61-1)

= (~54120) + 2(8-61)

= (=5 xl21) & (1 6-\21)

= (-5 l) 4 (120-121) :
21 ’ -

20 =317 &4 sas i OO0 sl sl ST
o | RGeS}

5. ped
2] N ‘ »
20 3% a3

S

bt o o

5 7 ‘
2C1) (=3C1) (=) _ 2«3

1l

Ve R
+ 02 s
— 2i43 i __\-‘l . 2,/ -2 +3"3'
L |~ N a2

= 21'-2(-l)+-3-§.' _204243-37 _ 5]

- T S
2

b= (=1) e

2 2 '
(=)



AU RN WARRTA ) I EERCERL WA g
LC6+20) « (=352 )= (5-30)

| el
[ (6-2)y x (2201 | (5-87)
= (3+Hf)-—(‘5-—-81')
= (3+41) 4 (-6 4 BD)
‘:(3—‘5)+(H+‘3)i =-2 4121
, " - AT
Q S+t Ly JAHW\.{‘)\‘J\J\M\
o 3-ui et
._S._:_E = 5+¥l’ 5_}+L{" f.
2.4 3.4y 3 4 Ui
\ P |
- i5 +2of+.2[;'+231 wflf\cft 11:..l

°\+)2(f-(2’.‘..16;‘2

- VS 4 Y+ 23(-1)

T =16

= 1544128

Q46
25

_ -3 _ul oy
T et

®



N .
‘a\';'b | AL
ot | i G haTs §O ¥
gl ool B padifiep L Dl uzah 2 195
3
3!
( \+{>
3 et
3-H <3-\-\ . )
L ) v
oo, 2 3
o 3=3ixi-l _,)
|- i *

- 3 3 4~ (=1) )
[ = (=)

o 3 .3
=<3-3|+1+\ >:<,‘:l_:,%.L>
| 2

Lol

TN o 2_'2(2')
.-(—3:“7[): (Q.-'l) -_-( 'l> o
.2 :
7—'<L{—L‘ll+l )(2"‘\)
= (L-l—’-lf-*r(-l)) (2-i) :(L'{-L{f-l) (2-1)
:(3"""“‘) (2-1')::5—- 31‘-31+H|'2 I'Q::*‘

= 6 - III+H(4) 1= -"-'['2-”;‘J

®



o 2‘ :%-\-9_; 9 2=-7-1' C'.-:.-J\ L}P_)._‘.B\ —‘.\3\‘-\#«5
Z v Za ¢ D Ty S+ ly >3
RYS ST

Z\+Zg= C3+2f3+ ("'-;Z.-f )

- (37« (2-0i =i

-y = (3420) 2 (- F=0)
= (3-&-21‘)* (7"" l)

-'5<3+—'F) + (2'\")\‘ = i|o+3;!

ZI*ZZ = C3+2t) * (.“7— l')
= -2‘—31.-—“—\;—21‘2

_ 21 o3i-Mi =206

o~ 3ol 42

e
el

o (-2142) + (-3




\

+ q.
E+50 3+ H¢

3. 3

, , .2
IS+20!+’5'+2‘”‘_ A

2o H -3/

¥
Y43y He3(

3°_6oi

‘?+//Z{_|Z{..|{{2

—
e

15 +35/ + 20 (-\)

]5..\/4|'+l/dl'-°\{2

+,80‘— ol

——-"'-ﬂ

L

o

q - 62

|5-|—35| -2 0
qQ-16 (1)

e

35/. 5

16-9i°%

#;g ~q (-1)

_30.-60;

Ao _50!.

U+ 16

——
—

1€+9

Be~§ +35;«6{£

25

- 45 =25,

——
—

25

==
]

ST 2
“as- T o5
3

EE

.—?5""_
-h[‘

N0,




G& e sos Bdupn oWl DSl _mplial A0

.2 3 g
I N o B
\'\"l' ..‘.k_\_b—)f
‘ 2 ,
NESCED IS I O (T
DA
N ||—/(-l.+/+l.
\+|.
- 2.;....;. . !
I 4y U4
b
= l * :
V4 L=
2
| = — 1_12
EES O SIE (=it
_ - (=)
[ (=1)
R _ [ i | ‘
|+ 2 "?+ 2



